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Note —

L (A)

Answers may be written either in English or in Hindi;

but the same medium should be used throughout the

' paper..
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Answer any Five questions.
All questions carry equal marks.
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If deﬁand function is given by Q, = 250 — 5P and supply

function is Q; = —30 + 3P, then find out eqmllbnum

price and equilibrium quantity. ’ 5

PTO.



(2) 5690
B) Define Price clasticity and Income elasticity of demand.

Comment on their relevance of their signs. ' 5

(C)  Prove that elasticity on a-straight line demand curve varies

from zero to infinity, ‘ - 5
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(A) - Why does Govt. fix maximum or minimum level of
Prices ? How do they affect price and output levels ?

Explain with the help of diagrams. _ 9

(B) Draw suitable disgrams showing elasticity of supply in

case of : -

(/)  Positively sloped straight line supply curve

passing through the origin.
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(i) Supply curve having intercept at Y-axis.

L3
t

(if)  Supply curve having intercept at X-axis. 6
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(A) Exp!ain Consumer’s equilibrium with the help of
indifference curve technééue. ‘ 10
(B) Explain Price Consumption Cur.vé (P.C.Cand Derivation.
of demgnd curve in case of ﬁormal Good. 5
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(A} Calculate AVC, TVC, AFC and MC from the following
|

data :
Output Total Cost .
0 30
! 60
2 &
37 : 90
4 i04
5 130 .
6 . 165

7 217

What is profit maximizing output if the firm can sell as

much as it wants at a price of Rs. 26 per unit ? 882

(B} Explain Retumns to Scale using iso-quants. . .5
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(A) Explain Least Cost Combination of the firm with the hélp

of Iso-quant Analysis. 10

(B) 'Why is Long Run Average Cost Curve ‘U" shaped ?

Explain with the heip of diagram. _ 5
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Distinguish between Perfect Competition and Monopoly.
Which market is allocatively efﬁcignt and why ? Explain with

the help of suitable diagrams. s
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(A) Explain short run cquilibrium of the firm under

Monopolistic Competition. 10

(B) Explain features of oligopoly. _ 5
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Write short notes on any swo of the following :' 7% each
(A) Backward Bending Supply Cu}ve for Labour.
(B) Concept of Economic Rent. |
<) i"rice Discfimination.
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